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Plan	
  de	
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•  Un	
  ou;l	
  d’analyse	
  :	
  la	
  no;on	
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•  Au-­‐delà	
  des	
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•  Quelques	
  mots	
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  mul;fractale	
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0	
  
1	
  	
  3	
  

4	
  

2	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  :	
  
deuxième	
  généra;on	
  



La	
  courbe	
  de	
  Péano	
  

en	
  cours	
  de	
  réalisa;on	
  



Jeu	
  de	
  pile	
  ou	
  face	
  :	
  
la	
  fortune	
  du	
  joueur	
  

Le	
  joueur	
  joue	
  à	
  pile	
  ou	
  face.	
  	
  
Il	
  gagne	
  1€	
  avec	
  probabilité	
  1/2	
  
et	
  en	
  perd	
  1	
  avec	
  probabilité	
  1/2	
  



Jeu	
  de	
  pile	
  ou	
  face	
  :	
  
la	
  fortune	
  du	
  joueur	
  

Le	
  joueur	
  joue	
  à	
  pile	
  ou	
  face.	
  	
  
Il	
  gagne	
  1€	
  avec	
  probabilité	
  1/2	
  
et	
  en	
  perd	
  1	
  avec	
  probabilité	
  1/2	
  

Xi	
  :	
  gain	
  (ou	
  perte)	
  au	
  i-­‐ème	
  jeu	
  



Jeu	
  de	
  pile	
  ou	
  face	
  :	
  
la	
  fortune	
  du	
  joueur	
  

Sn	
  	
  =	
  X1+…+Xn	
  :	
  	
  fortune	
  du	
  joueur	
  

Le	
  joueur	
  joue	
  à	
  pile	
  ou	
  face.	
  	
  
Il	
  gagne	
  1€	
  avec	
  probabilité	
  1/2	
  
et	
  en	
  perd	
  1	
  avec	
  probabilité	
  1/2	
  

Xi	
  :	
  gain	
  (ou	
  perte)	
  au	
  i-­‐ème	
  jeu	
  



Jeu	
  de	
  pile	
  ou	
  face	
  :	
  
la	
  fortune	
  du	
  joueur	
  

Sn	
  	
  =	
  X1+…+Xn	
  :	
  	
  fortune	
  du	
  joueur	
  

Xi	
  	
  =	
  -­‐1,	
  -­‐1,	
  1,	
  -­‐1,	
  1,	
  -­‐1,	
  1,	
  1,	
  1,	
  1,	
  1,	
  -­‐1,	
  1,…	
  

Sn	
  	
  =	
  -­‐1,	
  -­‐2,	
  -­‐1,	
  -­‐2,	
  -­‐1,	
  -­‐2,	
  -­‐1,	
  0,	
  1,	
  2,	
  3,	
  2,	
  3,…	
  

Le	
  joueur	
  joue	
  à	
  pile	
  ou	
  face.	
  	
  
Il	
  gagne	
  1€	
  avec	
  probabilité	
  1/2	
  
et	
  en	
  perd	
  1	
  avec	
  probabilité	
  1/2	
  

Xi	
  :	
  gain	
  (ou	
  perte)	
  au	
  i-­‐ème	
  jeu	
  



Le	
  principe	
  de	
  renormalisa;on	
  

Marche	
  à	
  20	
  pas	
  



Le	
  principe	
  de	
  renormalisa;on	
  

Marche	
  à	
  20	
  pas	
  

On	
  renormalise	
  	
  
d’un	
  facteur	
  20	
  en	
  abscisse	
  

et	
  d’un	
  facteur	
  √	
  	
  	
  	
  	
  	
  en	
  ordonnée	
  20	
  



Le	
  principe	
  de	
  renormalisa;on	
  

Marche	
  à	
  20	
  pas	
   Marche	
  à	
  20	
  pas	
  renormalisée	
  



De	
  la	
  fortune	
  du	
  joueur	
  au	
  
mouvement	
  brownien	
  

Marche	
  à	
  20	
  pas	
  renormalisée	
  

Marche	
  à	
  200	
  pas	
  renormalisée	
  

Marche	
  à	
  2000	
  pas	
  renormalisée	
  



)()()(
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ntB
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Le	
  mouvement	
  brownien	
  

Sta;s;quement	
  :	
  	
  



Le	
  mouvement	
  brownien	
  

Robert	
  Brown,	
  1773-­‐1858	
  



La	
  marche	
  aléatoire	
  en	
  dimension	
  2	
  

A	
  chaque	
  étape,	
  le	
  marcheur	
  fait	
  au	
  hasard	
  un	
  pas	
  	
  
vers	
  le	
  nord,	
  	
  vers	
  l’est,	
  	
  vers	
  le	
  sud	
  ou	
  vers	
  l’ouest	
  



Vers	
  le	
  mouvement	
  brownien	
  en	
  
dimension	
  2	
  

Marche	
  à	
  200	
  pas	
   Marche	
  à	
  2000	
  pas	
   Marche	
  à	
  20000	
  pas	
  

A	
  chaque	
  étape,	
  on	
  accélère	
  le	
  mouvement	
  d’un	
  facteur	
  n	
  
et	
  on	
  contracte	
  la	
  trajectoire	
  d’un	
  facteur	
  √	
  n	
  



Une	
  trajectoire	
  brownienne	
  en	
  
dimension	
  2	
  

)(1)( ntB
n

tB =Sta;s;quement	
  :	
  	
  



Autosimilarité	
  approchée	
  



Un	
  ou;l	
  d’analyse	
  :	
  la	
  dimension	
  
N(a)	
  =	
  nombre	
  de	
  disques	
  de	
  rayon	
  a	
  nécessaires	
  pour	
  recouvrir	
  la	
  courbe	
  



Un	
  ou;l	
  d’analyse	
  :	
  la	
  dimension	
  

On	
  recouvre	
  la	
  courbe	
  par	
  des	
  disques	
  de	
  rayon	
  a	
  
L	
  ≈	
  N(a)	
  x	
  a	
  

N(a)	
  =	
  nombre	
  de	
  disques	
  de	
  rayon	
  a	
  nécessaires	
  pour	
  recouvrir	
  la	
  courbe	
  



Un	
  ou;l	
  d’analyse	
  :	
  la	
  dimension	
  
N(a)	
  =	
  nombre	
  de	
  disques	
  de	
  rayon	
  a	
  nécessaires	
  pour	
  recouvrir	
  la	
  courbe	
  

On	
  recouvre	
  la	
  courbe	
  par	
  des	
  disques	
  de	
  rayon	
  a/2	
  
L	
  ≈	
  N(a/2)	
  x	
  a/2	
  



Un	
  ou;l	
  d’analyse	
  :	
  la	
  dimension	
  

N(a)	
  x	
  a1	
  ≈	
  N(a/2)	
  x	
  (a/2)1	
  ≈	
  N(r)	
  x	
  r1	
  

La	
  dimension	
  de	
  la	
  courbe	
  vaut	
  1	
  

N(a)	
  =	
  nombre	
  de	
  disques	
  de	
  rayon	
  a	
  nécessaires	
  pour	
  recouvrir	
  la	
  courbe	
  



La	
  courbe	
  de	
  Von	
  Koch	
  
	
  



La	
  courbe	
  de	
  Von	
  Koch	
  
	
  



La	
  courbe	
  de	
  Von	
  Koch	
  
	
  

N(a/3)	
  =	
  4	
  x	
  N(a)	
  



La	
  courbe	
  de	
  Von	
  Koch	
  
	
  

N(a/3)	
  =	
  4	
  x	
  N(a)	
   N(a/3n)	
  =	
  4n	
  x	
  N(a)	
  



La	
  courbe	
  de	
  Von	
  Koch	
  
	
  

N(a/3)	
  =	
  4	
  x	
  N(a)	
   N(a/3n)	
  =	
  4n	
  x	
  N(a)	
  

N(r)	
  x	
  rd	
  =	
  1	
  	
  	
  si	
  	
  	
  	
  r	
  =	
  3-­‐n	
  	
  	
  et	
  	
  	
  d	
  =	
  log3(4)	
  

La	
  dimension	
  de	
  la	
  courbe	
  vaut	
  d	
  =	
  log3(4)≈1,26	
  



Défini;on	
  de	
  la	
  dimension	
  

La	
  dimension	
  d’un	
  ensemble	
  	
  K	
  est	
  définie	
  par	
  

où	
  	
  N(r)	
  	
  est	
  le	
  nombre	
  de	
  boules	
  de	
  rayon	
  	
  r	
  
nécessaires	
  pour	
  recouvrir	
  	
  K	
  

lim	
  	
  	
  
log	
  (N(r))	
  

-­‐	
  log(r)	
  r→	
  0	
  



Quelques	
  exemples	
  

d=	
  =	
  log3(4)	
  

d	
  =	
  1	
   d	
  =	
  3/2	
  

d	
  =	
  log2(3)	
  



Et	
  le	
  dimension	
  de	
  la	
  côte	
  bretonne	
  ?	
  

d	
  ≈	
  1,2	
  



Au-­‐delà	
  des	
  ensembles,	
  les	
  mesures	
  
un	
  exemple	
  :	
  la	
  mesure	
  de	
  surface	
  



Au-­‐delà	
  des	
  ensembles,	
  les	
  mesures	
  
un	
  exemple	
  :	
  la	
  mesure	
  de	
  surface	
  

1/4	
   1/4	
  

1/4	
   1/4	
  



Au-­‐delà	
  des	
  ensembles,	
  les	
  mesures	
  
un	
  exemple	
  :	
  la	
  mesure	
  de	
  surface	
  

1/16	
  



Au-­‐delà	
  des	
  ensembles,	
  les	
  mesures	
  
un	
  exemple	
  :	
  la	
  mesure	
  de	
  surface	
  

1/64	
  



Au-­‐delà	
  des	
  ensembles,	
  les	
  mesures	
  
un	
  exemple	
  :	
  la	
  mesure	
  de	
  surface	
  

1/64	
  



1/64	
   1/64	
   1/64	
  

1/64	
   1/64	
   1/64	
   1/64	
  

1/64	
   1/64	
   1/64	
  

1/64	
   1/64	
  

1/64	
  

Au-­‐delà	
  des	
  ensembles,	
  les	
  mesures	
  
un	
  exemple	
  :	
  la	
  mesure	
  de	
  surface	
  

m3(K)=13x1/64=0,203125	
  



m1(K),m2(K),	
  m3(K),…,m6(K),…,mn(K),…	
  

Au-­‐delà	
  des	
  ensembles,	
  les	
  mesures	
  
un	
  exemple	
  :	
  la	
  mesure	
  de	
  surface	
  



Mesures	
  autosimilaires	
  

0,31	
   0,29	
  

0,27	
   0,13	
  



Mesures	
  autosimilaires	
  



Mesures	
  autosimilaires	
  



Mesures	
  autosimilaires	
  



Mesures	
  autosimilaires	
  



Mesures	
  autosimilaires	
  

m	
  =	
  0,31m1	
  +	
  0,29m2	
  +	
  0,27m3	
  +	
  0,13m4	
  
où	
  m1,	
  m2,	
  m3,	
  m4	
  sont	
  semblables	
  à	
  m	
  



Mesure	
  mul;fractale	
  :	
  un	
  aperçu	
  

Ea	
  =	
  {	
  x	
  	
  tels	
  que	
  	
  	
  m(B(x,r))	
  ≈	
  ra	
  	
  }	
  



Mesure	
  mul;fractale	
  :	
  un	
  aperçu	
  

Ea	
  =	
  {	
  x	
  	
  tels	
  que	
  	
  	
  m(B(x,r))	
  ≈	
  ra	
  	
  }	
  

a	
  

dim	
  (Ea)	
  



Mesure	
  mul;fractale	
  :	
  un	
  aperçu	
  

Ea	
  =	
  {	
  x	
  	
  tels	
  que	
  	
  	
  m(B(x,r))	
  ≈	
  ra	
  	
  }	
  

amin	
   amax	
   a	
  

dim	
  (Ea)	
  



Mesure	
  mul;fractale	
  :	
  un	
  aperçu	
  

Ea	
  =	
  {	
  x	
  	
  tels	
  que	
  	
  	
  m(B(x,r))	
  ≈	
  ra	
  	
  }	
  

amin	
   amax	
   a	
  

dim	
  (Ea)	
  

a0	
  

dim	
  (Ea0)	
  =	
  a0	
  



Mesure	
  mul;fractale	
  :	
  un	
  aperçu	
  

Ea	
  =	
  {	
  x	
  	
  tels	
  que	
  	
  	
  m(B(x,r))	
  ≈	
  ra	
  	
  }	
  

amin	
   amax	
   a	
  

dim	
  (Ea)	
  

dim	
  (supp	
  (m))	
  

a0	
  

dim	
  (Ea0)	
  =	
  a0	
  



Un	
  exemple	
  jouet	
  :	
  	
  
la	
  mesure	
  de	
  Bernoulli	
  

1	
  

p	
  

pp	
  
ppp	
  

pp(1-­‐p)	
  

p(1-­‐p)	
  
p(1-­‐p)p	
  

P(1-­‐p)(1-­‐p)	
  

1-­‐p	
  

(1-­‐p)p	
  
(1-­‐p)pp	
  

(1-­‐p)p(1-­‐p)	
  

(1-­‐p)(1-­‐p)	
  
(1-­‐p)(1-­‐p)p	
  

(1-­‐p)(1-­‐p)(1-­‐p)	
  



Le	
  spectre	
  de	
  la	
  mesure	
  de	
  Bernoulli	
  

p	
  =	
  0,15	
  

p	
  =	
  0,25	
  

p	
  =	
  0,40	
  

p	
  =	
  0,50	
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